### PUBLIC SERVICE LEAGUE 2025

#### TEAM STANDINGS

WEEK: 07/30

DATE: 11-Jun-25

POS	TEAM NAME	В	/f	CURR POINTS		TOTAL	POINTS	TTL PFS			
		Won	Lost	Won	Lost	Won	Lost	B/f	Curr	Total	
1	Team Xynergy (Tm #10)	82.0	38.0	17.0	3.0	99.0	41.0	13864	2423	16287	
2	Team MINDEF (Tm #09)	79.5	20.5	19.0	1.0	98.5	21.5	11752	2408	14160	
3	XIIX (Tm #02)	77.5	42.5	18.0	2.0	95.5	44.5	13421	2143	15564	
4	HotShots!2 (Tm #08)	84.5	35.5	10.0	10.0	94.5	45.5	13556	2175	15731	
5	OnePS (Tm #12)	63.0	37.0	8.5	11.5	71.5	48.5	11503	2277	13780	
6	Alley Master (Tm #05)	45.0	55.0	16.0	4.0	61.0	59.0	10567	2290	12857	
7	Club 7 (Tm #06)	48.5	71.5	11.5	8.5	60.0	80.0	12800	2373	15173	
8	PSRC (Tm #04)	56.5	63.5	1.0	19.0	57.5	82.5	11917	1683	13600	
9	SingHealth (Tm #15)	44.0	56.0	13.0	7.0	57.0	63.0	10454	2108	12562	
10	Strike Force (Tm #03)	53.0	67.0	2.0	18.0	55.0	85.0	12026	1943	13969	
11	Frontliners (Tm #14)	50.5	49.5	3.0	17.0	53.5	66.5	10539	1962	12501	
12	Happy Bowlers (Tm #13)	48.0	72.0	4.0	16.0	52.0	88.0	12375	2100	14475	
13	MSF12Bowl! (Tm #11)	38.5	81.5	7.0	13.0	45.5	94.5	12258	1975	14233	
14	NP (Tm #01)	35.5	64.5	10.0	10.0	45.5	74.5	10443	2176	12619	
15	Shibe (Tm #07)	34.0	86.0	0.0	0.0	34.0	86.0	12270	0	12270	

# **INDIVIDUAL SPECIAL ACHIEVEMENTS**

High Scratch Game ( MEN ) (min 12 gar	mes)	High Scratch Series ( MEN ) (min 12 game	s)
Mohd Zaki (Team Xynergy)	279	Thomas Lee (OnePS)	917
Wee Hong Ee (SingHealth)	257	Khairulnizam Abdul Jamil (Club 7)	859
Tan Chee Keong (XIIX)	254	Abdul Rahman Hussin (XIIX)	831
High Handicap Game ( MEN ) (min 12 ga	imes)	High Handicap Series ( MEN ) (min 12 gam	es)
Jae Tay (OnePS)	259	Prakash C (Team Xynergy)	870
Bryan Lee (Team Xynergy)	256	Willy Wong (Club 7)	867
Edward Tan (Team MINDEF)	243	Farouk Muhd Said (Happy Bowlers)	802
High Scratch Game ( LADIES ) (min 12 g	ames)	High Scratch Series ( LADIES ) (min 12 gan	nes)
Susan Lim (Shibe)	. 225	Xanthe Lin Huixian (SingHealth)	672
High Handicap Game ( LADIES ) (min 12 (	games)	High Handicap Series ( LADIES ) (min 12 ga	mes)
Serena Foo (SingHealth)	203	Trea Huang (Stike Force)	701
High Average Man (min 20 games		ltick to the state of the state	
High Average - Men (min 28 games		High Average - Ladies (min 28 games)	SERVICE .
Each bowler is only eligible t	for one individual	special award except high average award.	

## **TEAM SPECIAL ACHIEVEMENTS**

High Scratch Game- Team		High Scratch Series- Team	
HotShots!2 (Week 01)	696	Team MINDEF (Week 01)	2471
OnePS (Week 04)	653	Club 7 (Week 07)	2321
High Handicap Game - Team		High Handicap Series – Team	E S
Team Xynergy (Week 07)	662	XIIX (Week 01)	2445
Shibe (Week 06)	633	Alley Master (Week 07)	2290

No		THE STATE OF THE PARTY OF THE P	Next	vier R			Tonus	After V	
110	Name	M/F	HDCP	PFS	GMS	AVG	Topup Points	Topup Total	TOP
NP	(Tm #01)							10101	
1	Peter Puan	S	25	566	4	141	27	593	14
2	Andy Ng	S	3	2,169	12	180	-	2,169	18
3	Carlin Lee	M	13	613	4	153	21	634	15
4	Jacob Goh	S	17	2,535	16	158	38	2,573	16
5	Ling Ah Chui	S	*	i ė	-5		-	-	
6 7	Loh Wai Tuck Melvin Tan	S	12	2,670	16	166	2	2,672	16
8	Ng Kay Yang	S	31	533	4	133	27	560	14
9	Lee Siow Hwa	S	19	1,238	- 8	154	- 22	4 200	4.5
10	Alvin Tham	S	23	604	4	151	22	1,260 608	15
11	Divyan Konidala	M	22	451	4	112	109	560	14
12			-	-		1,12	-	-	14
13			-		- 3		2	-	
14			-	(#)			- 2	2	
15	( / - // - // - // - // - // - // - //		-	+	-		-		
XIIX									
16	Kwek Yao Chie	M	8	2,023	12	168	-	2,023	16
17	Lim Fong Yee	F	4	1,433	8	179		1,433	17
18 19	Ng Siong Boon	S	3	720	4	180	-	720	18
20	Khairul Salleh Abu Bakar Abdul Rahman Hussin	S	9	1,355	8	169	20	1,375	17
21	Jake Wang	S	14	2,256	12	188		2,256	18
22	Tan Chee Keong	S	- 14	1,862 2,258	12 12	155 188	14	1,876	15
23	Low Chang Hong	S		907	4	226	-	2,258 907	18
24	Felix Lee	M	4	710	4	177		710	17
25	Francis Yap	S	14	1,312	8	164	14	1,326	16
26			- '	- 1,012	- 2	104	- 17	-	10
27			-	400	40		-		
28			-	(+)	*		-		
29			-	*	#3		-		
30	(2 Farra /Tras #00)		-		-		-	-	
	ke Force (Tm #03)								
31	Zainudin Haroon	S	22	2,380	16	148	77	2,457	15
32	Wei Kiam Will Er	M	6	1,370	8	171	19	1,389	17
		S	21	2,397	16	149	76	2,473	
-	Sean Na				40		2000		15
34	Sean Ng Daniel Lam	М	9	2,004	12	167	11	2,015	16
34 35	Daniel Lam	M S	9 31	2,004 964	8	120	156	2,015 1,120	16 14
34 35 36	Daniel Lam Trea Huang	M S F	9 31 23	2,004 964 1,804	8 12	120 150	156 21	2,015 1,120 1,825	16 14 15
34 35	Daniel Lam Trea Huang Farhan Haron	S F M	9 31	2,004 964 1,804 464	8 12 4	120	156	2,015 1,120	16 14 15
34 35 36 37 38 39	Daniel Lam Trea Huang Farhan Haron Michael Chan Janice Tan	M S F	9 31 23 22	2,004 964 1,804 464	8 12 4	120 150 116	156 21 103	2,015 1,120 1,825 567	16 14 15 14
34 35 36 37 38 39 40	Daniel Lam Trea Huang Farhan Haron Michael Chan Janice Tan Connie Sim	M S F M	9 31 23 22	2,004 964 1,804 464	8 12 4	120 150	156 21	2,015 1,120 1,825	16 14 15 14
34 35 36 37 38 39 40 41	Daniel Lam Trea Huang Farhan Haron Michael Chan Janice Tan Connie Sim Ailyn Ho	M S F M M F F F F	9 31 23 22 - 31	2,004 964 1,804 464	8 12 4 - 4	120 150 116	156 21 103 - 94	2,015 1,120 1,825 567 - 560	16 14 15 14
34 35 36 37 38 39 40 41 42	Daniel Lam Trea Huang Farhan Haron Michael Chan Janice Tan Connie Sim Ailyn Ho Dennis Tan	M S F M M F F F S	9 31 23 22 - 31	2,004 964 1,804 464 - 466	8 12 4 - 4	120 150 116	156 21 103 - 94	2,015 1,120 1,825 567 - 560	16 14 15 14
34 35 36 37 38 39 40 41 42 43	Daniel Lam Trea Huang Farhan Haron Michael Chan Janice Tan Connie Sim Ailyn Ho Dennis Tan Mohd Jurnaat Sulong	M S F M M F F F S S S	9 31 23 22 - 31 - - 31	2,004 964 1,804 464 - 466	8 12 4 - 4 -	120 150 116	156 21 103 - 94 -	2,015 1,120 1,825 567 - 560	16 14 15 14
34 35 36 37 38 39 40 41 42 43 44	Daniel Lam Trea Huang Farhan Haron Michael Chan Janice Tan Connie Sim Ailyn Ho Dennis Tan	M S F M M F F F S	9 31 23 22 - 31	2,004 964 1,804 464 - 466 - - - 424	8 12 4 - 4 - 4 - - 4	120 150 116 116	156 21 103 - 94 - - - 136	2,015 1,120 1,825 567 - 560	16 14 15
34 35 36 37 38 39 40 41 42 43 44 45	Daniel Lam Trea Huang Farhan Haron Michael Chan Janice Tan Connie Sim Ailyn Ho Dennis Tan Mohd Jumaat Sulong Maslinda Latin	M S F M M F F F S S S	9 31 23 22 - 31 - - 31	2,004 964 1,804 464 - 466 - - - 424	8 12 4 - 4 - 4	120 150 116 116	156 21 103 - 94 - - - 136	2,015 1,120 1,825 567 - 560 - - 560	16 14 15 14
34 35 36 37 38 39 40 41 42 43 44 45	Daniel Lam Trea Huang Farhan Haron Michael Chan Janice Tan Connie Sim Ailyn Ho Dennis Tan Mohd Jumaat Sulong Maslinda Latin	M S F M M F F F S S F F	9 31 23 22 - 31 - 31 -	2,004 964 1,804 464 - 466 - 424 -	8 12 4 - 4 - - 4 - - 4	120 150 116 116	156 21 103 - 94 - - 136 -	2,015 1,120 1,825 567 - 560 - 560	16 14 15 14
34 35 36 37 38 39 40 41 42 43 44 45	Daniel Lam Trea Huang Farhan Haron Michael Chan Janice Tan Connie Sim Ailyn Ho Dennis Tan Mohd Jumaat Sulong Maslinda Latin  CC (Tm #04) Nur Iskandar Jamal	M S F M M F F F S S F F	9 31 23 22 - 31 - 31 -	2,004 964 1,804 464 - 466 - 424 - 1,930	8 12 4 - 4 - - 4 - - 12	120 150 116 116 106	156 21 103 - 94 - - - 136	2,015 1,120 1,825 567 - 560 - - 560 - - 1,972	16 14 15 14 14 14
34 35 36 37 38 39 40 41 42 43 44 45 OSF 46 47	Daniel Lam Trea Huang Farhan Haron Michael Chan Janice Tan Connie Sim Ailyn Ho Dennis Tan Mohd Jumaat Sulong Maslinda Latin  CC (Tm #04) Nur Iskandar Jamal Ayvern Lim	M S F M M F F F S S F F M S S	9 31 23 22 - 31 - - 31 - - 10 13	2,004 964 1,804 464 - 466 - 424 - 1,930 1,334	8 12 4 - 4 - - 4 - - 12 8	120 150 116 116 106	156 21 103 - 94 - - 136 - - 42	2,015 1,120 1,825 567 - 560 - - 560 - - 1,972 1,334	16 14 15 14 14 14 16 16
34 35 36 37 38 39 40 41 42 43 44 45 OSF	Daniel Lam Trea Huang Farhan Haron Michael Chan Janice Tan Connie Sim Ailyn Ho Dennis Tan Mohd Jumaat Sulong Maslinda Latin  RC (Tm #04) Nur Iskandar Jamal Ayvern Lim Muhd Asraf Abdullah Sani	M S F F S S F F M M S M	9 31 23 22 - 31 - 31 - - 10 13 7	2,004 964 1,804 464 - 466 - 424 - 1,930 1,334 686	8 12 4 - 4 - - 4 - - 12 8 4	120 150 116 116 106 160 166 171	156 21 103 - 94 - - 136 - - 42	2,015 1,120 1,825 567 - 560 - - 560 - - 1,972 1,334 686	16 14 15 14 14 14 16 16 16
34 35 36 37 38 39 40 41 42 43 44 45 SF 46 47 48	Daniel Lam Trea Huang Farhan Haron Michael Chan Janice Tan Connie Sim Ailyn Ho Dennis Tan Mohd Jumaat Sulong Maslinda Latin  RC (Tm #04) Nur Iskandar Jamal Ayvern Lim Muhd Asraf Abdullah Sani Khoo Teck Hua	M S F F S S F F M S S M S S	9 31 23 22 - 31 - - 31 - - 10 13 7 29	2,004 964 1,804 464 - 466 - - 424 - - 1,930 1,334 686 1,099	8 12 4 - 4 - - 4 - - 12 8 4 8	120 150 116 116 106 160 166 171 137	156 21 103 - 94 - - 136 - - 42 - 45	2,015 1,120 1,825 567 - 560 - - 560 - - 1,972 1,334 686 1,144	16 14 15 14 14 14 16 16 16 17 14
34 35 36 37 38 39 40 41 42 43 44 45 SF 46 47 48 49	Daniel Lam Trea Huang Farhan Haron Michael Chan Janice Tan Connie Sim Ailyn Ho Dennis Tan Mohd Jumaat Sulong Maslinda Latin  RC (Tm #04) Nur Iskandar Jamal Ayvern Lim Muhd Asraf Abdullah Sani Khoo Teck Hua Segar Raj S Yellapen	M S S S S S S S S S S S S S S S S S S S	9 31 23 22 - 31 - - 31 - - 10 13 7 29 24	2,004 964 1,804 464 - 466 - - 424 - - 1,930 1,334 686 1,099 1,777	8 12 4 - 4 - - 4 - - 12 8 4 8 12	120 150 116 116 116 106 160 166 171 137 148	156 21 103 - 94 - - 136 - - - 42 - - 45 27	2,015 1,120 1,825 567 - 560 - - 560 - - 1,972 1,334 686 1,144 1,804	16 14 15 14 14 14 16 16 16 17 14 15
34 35 36 37 38 39 40 41 42 43 44 45 SF 46 47 48 49 50	Daniel Lam Trea Huang Farhan Haron Michael Chan Janice Tan Connie Sim Ailyn Ho Dennis Tan Mohd Jumaat Sulong Maslinda Latin  RC (Tm #04) Nur Iskandar Jamal Ayvern Lim Muhd Asraf Abdullah Sani Khoo Teck Hua	M S S S M M S S M M	9 31 23 22 - 31 - - 31 - - 10 13 7 29 24 7	2,004 964 1,804 464 - 466 - - 424 - - 1,930 1,334 686 1,099 1,777 686	8 12 4 - 4 - - 4 - - 12 8 4 8 12 4	120 150 116 116 116 106 166 171 137 148 171	156 21 103 - 94 - - 136 - - - 42 - - 45 27	2,015 1,120 1,825 567 - 560 - - 560 - - 1,972 1,334 686 1,144 1,804 686	16 14 15 14 14 14 16 16 17 14 15 17
34 35 36 37 38 39 40 41 42 43 44 45 9 50 51 52 53	Daniel Lam Trea Huang Farhan Haron Michael Chan Janice Tan Connie Sim Ailyn Ho Dennis Tan Mohd Jumaat Sulong Maslinda Latin  C (Tm #04) Nur Iskandar Jamal Ayvern Lim Muhd Asraf Abdullah Sani Khoo Teck Hua Segar Raj S Yellapen Toh Yong Chong Muhd Azri Aidil Tamzil Muhd Rustam Maideen Gani	M S S S S S S S S S S S S S S S S S S S	9 31 23 22 - 31 - - 31 - - - 10 13 7 29 24 7	2,004 964 1,804 464 - 466 - - 424 - - 1,930 1,334 686 1,099 1,777 686 2,191	8 12 4 - 4 - - 4 - - 12 8 4 8 12 4 16	120 150 116 116 116 106 166 171 137 148 171 136	156 21 103 - 94 - - 136 - - - 42 - - 45 27 - 228	2,015 1,120 1,825 567 - 560 - - 560 - - 1,972 1,334 686 1,144 1,804 686 2,419	16 14 15 14 14 14 16 16 17 14 15 17
34 35 36 37 38 39 40 41 42 43 44 45 50 51 52 53 54	Daniel Lam Trea Huang Farhan Haron Michael Chan Janice Tan Connie Sim Ailyn Ho Dennis Tan Mohd Jurnaat Sulong Maslinda Latin  C (Tm #04) Nur Iskandar Jamal Ayvern Lim Muhd Asraf Abdullah Sani Khoo Teck Hua Segar Raj S Yellapen Toh Yong Chong Muhd Azri Aidil Tamzil Muhd Rustam Maideen Gani Jacob Raja Rajamani	M S S S M M M	9 31 23 22 - 31 - - 31 - - 10 13 7 29 24 7	2,004 964 1,804 464 - 466 - - 424 - - 1,930 1,334 686 1,099 1,777 686	8 12 4 - 4 - - 4 - - 12 8 4 8 12 4	120 150 116 116 116 106 166 171 137 148 171 136 111	156 21 103 - 94 - - 136 - - - 42 - - 45 27 - 228 114	2,015 1,120 1,825 567 - 560 560 - 1,972 1,334 686 1,144 1,804 686 2,419 560	16 14 15 14 14 14 16 16 17 14 15 17 15
34 35 36 37 38 39 40 41 42 43 44 45 50 51 52 53 54 55	Daniel Lam Trea Huang Farhan Haron Michael Chan Janice Tan Connie Sim Ailyn Ho Dennis Tan Mohd Jumaat Sulong Maslinda Latin  CC (Tm #04) Nur Iskandar Jamal Ayvern Lim Muhd Asraf Abdullah Sani Khoo Teck Hua Segar Raj S Yellapen Toh Yong Chong Muhd Azri Aidil Tamzil Muhd Rustam Maideen Gani Jacob Raja Rajamani Muhd Ruzaini Ashim	M S S S M M M M M	9 31 23 22 - 31 - - 31 - - - 10 13 7 29 24 7 17 22	2,004 964 1,804 464 - 466 - 424 - - 1,930 1,334 686 1,099 1,777 686 2,191 446	8 12 4 - 4 - - 4 - - 12 8 4 8 12 4 16 4	120 150 116 116 116 106 166 171 137 148 171 136 111 124	156 21 103 - 94 - - 136 - - 42 - 45 27 - 228 114 63	2,015 1,120 1,825 567 - 560 560 - 1,972 1,334 686 1,144 1,804 686 2,419 560 560	16 14 15 14 14 14 16 16 17 14 15 17 15 14 14
34 35 36 37 38 39 40 41 42 43 44 45 50 51 52 53 54 55 56	Daniel Lam Trea Huang Farhan Haron Michael Chan Janice Tan Connie Sim Ailyn Ho Dennis Tan Mohd Jumaat Sulong Maslinda Latin  C (Tm #04) Nur Iskandar Jamal Ayvern Lim Muhd Asraf Abdullah Sani Khoo Teck Hua Segar Raj S Yellapen Toh Yong Chong Muhd Azri Aidil Tamzil Muhd Rustam Maideen Gani Jacob Raja Rajamani Muhd Ruzaini Ashim Khiaril Aziz Abdul Hamid	M S S S M M M M M M M	9 31 23 22 - 31 - - 31 - - - 10 13 7 29 24 7 17 22 31 18 20	2,004 964 1,804 464 - 466 - - 424 - - 1,930 1,334 686 1,099 1,777 686 2,191 446 497	8 12 4 - 4 - - 4 - - 12 8 4 8 12 4 16 4	120 150 116 116 116 106 166 171 137 148 171 136 111	156 21 103 - 94 - - 136 - - - 42 - - 45 27 - 228 114	2,015 1,120 1,825 567 - 560 560 - 1,972 1,334 686 1,144 1,804 686 2,419 560 560 593	16 14 15 14 14 14 16 16 17 14 15 17 15 14 14 14
34 35 36 37 38 40 41 42 43 44 45 OSF 46 47 48 49 50 51 52 53 54 55 56 57	Daniel Lam Trea Huang Farhan Haron Michael Chan Janice Tan Connie Sim Ailyn Ho Dennis Tan Mohd Jumaat Sulong Maslinda Latin  CC (Tm #04) Nur Iskandar Jamal Ayvern Lim Muhd Asraf Abdullah Sani Khoo Teck Hua Segar Raj S Yellapen Toh Yong Chong Muhd Azri Aidil Tamzil Muhd Rustam Maideen Gani Jacob Raja Rajamani Muhd Ruzaini Ashim	M S S S M M M S S M M M S S M M	9 31 23 22 - 31 - - 31 - - - 10 13 7 29 24 7 17 22 31 18	2,004 964 1,804 464 - 466 - - 424 - - 1,930 1,334 686 1,099 1,777 686 2,191 446 497 541	8 12 4 - 4 - - 4 - - 12 8 4 8 12 4 16 4 4	120 150 116 116 116 108 108 160 166 171 137 148 171 136 111 124 135	156 21 103 - 94 - - 136 - - 42 - 45 27 - 228 114 63 52	2,015 1,120 1,825 567 - 560 560 - 1,972 1,334 686 1,144 1,804 686 2,419 560 560	16 14 15 14 14 14 16 16 16 17 14
34 35 36 37 38 39 40 41 42 43 44 45 50 51 52 53 54 55 56	Daniel Lam Trea Huang Farhan Haron Michael Chan Janice Tan Connie Sim Ailyn Ho Dennis Tan Mohd Jumaat Sulong Maslinda Latin  C (Tm #04) Nur Iskandar Jamal Ayvern Lim Muhd Asraf Abdullah Sani Khoo Teck Hua Segar Raj S Yellapen Toh Yong Chong Muhd Azri Aidil Tamzil Muhd Rustam Maideen Gani Jacob Raja Rajamani Muhd Ruzaini Ashim Khiaril Aziz Abdul Hamid	M S S S M M M M M M M	9 31 23 22 - 31 - - 31 - - - 10 13 7 29 24 7 17 22 31 18 20	2,004 964 1,804 464 - 466 - - 424 - - 1,930 1,334 686 1,099 1,777 686 2,191 446 497 541 519	8 12 4 - 4 - - 4 - - - 12 8 4 8 12 4 16 4 4 4	120 150 116 116 116 106 166 171 137 148 171 136 111 124 135 129	156 21 103 - 94 - - 136 - - 42 - 45 27 - 228 114 63 52 63	2,015 1,120 1,825 567 - 560 560 - 1,972 1,334 686 1,144 1,804 686 2,419 560 560 593 582	16 14 15 14 14 14 16 16 17 14 15 17 15 14 14 14

No	BLIC SERVICE LEAG	M/F	Next	Total	GMS	AVG	Topup	Topup	Veek #7 TOP
080110		1001	HDCP	PFS	GIVIS	AVG	Points	Total	UP
61	y Master (Tm #05)	1 11	10.1						
62	Marcus Yuin	M	16	579	4	144	29	608	152
63	Alvin Loh	M	11	2,527 664	16	157 166	65	2,592	162
64	Mohd Faizal Sumeri	M	7	2,730	16	170	13 5	677 2,735	169 170
65	Ho Lian Yee	M	-	1,555	8	194	-	1,555	194
66	Zaini Mohd	S	-	-	-	154	-	1,555	134
67	Justino Guo	M	-	-	- 60		-	-	
68	Syed Nasri	M		**	-2		-	F1	
69	Roslan Abdul Rahman	M	3 -					+6	
70	Zulhilmi Mazli	M	4	1,402	8	175	7	1,409	176
71 72	Suhaizan Ashraf	M	-	828	4	207	-	828	207
73	Muhd Nabil Rosli	M	1	1,464	8	183	-	1,464	183
74	Amanda Kwang	F	23	584	4	146	25	609	152
75			-	-	2		-		
-	o 7 (Tm #06)		-	15 <del>-</del> 50	-		-	2	
76	Rosli Anwari	S	16	1 205	0	404	- 1	4 000 T	100
77	Nicholas Tan	S	16	1,295	8	161	7	1,302	162
78	Willy Woon	S	4	2,136	12	178	10	2,146	178
79	Abdul Adi Abdul Majid	S	16	2,568	16	160	22	2,140	161
80	Shahriman Arip	S	17	1,231	8	153	52	1,283	160
81	Cheng Giin Horng	M	20	1,106	8	138	56	1,162	145
82	Anthony Li	M	4	1,420	8	177	-	1,420	177
83	Khairulnizam Abdul Jamil	M	-	2,343	12	195	2	2,345	195
84	Fadil Low Chun Wei	M	2	1,446	8	180	-	1,446	180
85	Jasmine Ang	F	21	600	4	150	22	622	155
86			-	-	20		-	-	
87				348	*		- 2	2	
88 89			-	-	+		-	2	
90			-	-	- 8		-	2	
-	pe (Tm #07)		-	(#)	-		5=		
91	Doris Wong	-							
92	Susan Lim	F	31	478	4	119	82	560	140
93	Lee Jing Xian	F	11	2,664	16	166	24	2,688	168
94	Brandon Lye	F M	- 4	2,812	16	175	- 40	0.004	470
95	Lim Kian Chee	S	27	555	4	138	19 30	2,831 585	176
96	Jack Ng	M	10	1,967	12	163	22	1,989	146 165
97	David Wee	S	19	1,240	8	155	18	1,258	157
98	Javier Liauw	M	-	-	-		- 10	1,200	107
99	George Oh	M	15	1,217	8	152	20	1,237	154
100	Goh Peck Khim	F	23	601	4	150	4	605	151
101			-	-		WA	-	-	
103			-					-	
104			-	-	•		-		
105			-	-			-	196	
	Shots!2 (Tm #08)	THE PERSON						10.50	
106	Andrew Yong	M		4.540	0.1	400			
107	Ardi Ramli	M	9	1,510 1,335	8	188	-	1,510	188
108	Arnold Teo	M	4	1,335	8	166 174	- 20	1,335	166
109	Noorfizah Hasim	F	-	766	4	191	26	1,420 766	177 191
110	Vincent Poh	S	4	1,431	8	178		1,431	178
111	Yang Jianfeng	M	-	1,594	8	199	-	1,594	199
112	Zhou Wencong	M	-	1,670	8	208	-	1,670	208
113	Roland Ng	M	-	1,479	8	184	-	1,479	184
114	Gwendnolyn Khoo	F	6	704	4	176	-	704	176
115	Gerald Ang	S	9	2,067	12	172		2,067	172
116 117	Tan Khoon Han	M	-	1,493	8	186	-	1,493	186
118			-		-			-	
119			-	14	-				
120			1	-	-			-	
-			1990	-	+ 1		-		

121 122 123 124 125 126 127 128 129 130 131 132 133 134 135 Tear	Name  m MINDEF (Tm #09)  Keane Chu Gary Eng Sheena Ng Andy Oh Garan Tok Edward Tan Jeremy Song Steven Ang	S M F M S	10 11 11	Total PFS	GMS	AVG	Topup Points	Topup Total	TOP UP
121 122 123 124 125 126 127 128 129 130 131 132 133 134 135 Tear	Keane Chu Gary Eng Sheena Ng Andy Oh Garan Tok Edward Tan Jeremy Song	M F M S	10				1 011110	, otto	
121 122 123 124 125 126 127 128 129 130 131 132 133 134 135 16	Keane Chu Gary Eng Sheena Ng Andy Oh Garan Tok Edward Tan Jeremy Song	M F M S	11	2.043					
123 124 125 126 127 128 129 130 131 132 133 134 135 Fear	Sheena Ng Andy Oh Garan Tok Edward Tan Jeremy Song	M F M S			12	170	-	2,043	17
124 125 126 127 128 129 130 131 132 133 134 135 Tear	Andy Oh Garan Tok Edward Tan Jeremy Song	M S	11	648	4	162	-	648	16
125 126 127 128 129 130 131 132 133 134 135	Garan Tok Edward Tan Jeremy Song	S	1	679	4	169	-	679	16
126 127 128 129 130 131 132 133 134 135	Edward Tan Jeremy Song		-	878	4	219		878	21
127 128 129 130 131 132 133 134 135	Jeremy Song		-	829	4	207	-	829	20
128 129 130 131 132 133 134 135 Tear		S	-	2,281	12	190	-	2,281	19
129 130 131 132 133 134 135 Tear		M	-	870 765	4	217		870	21
130 131 132 133 134 135 Tear	Alwin Woon	M	-	772	4	191 193		765 772	19
132 133 134 135 Tear	Raymond Soh	M		836	4	209		836	20
133 134 135 Tear	Chua Rong Tai	M		1,564	8	195	- 82	1,564	19
134 135 <b>Tear</b>	Jacob Lim	M		1,735	8	216		1,735	21
135 Tear	Reine Soh	F	-				<b>14</b>	2	
Tear		- 2	*		*		-	<u> </u>	
	V /= #40		-	-	-		-	-	
	m Xynergy (Tm #10)								
136	Lum Nicholas	M	-	1,622	8	202	-	1,622	20
137	Prakash C	S	-	3,207	16	200	-	3,207	20
138 139	Valerie Teo Melvin Tan	F	-	759	4	189	-	759	18
140	Sherwin	M	2	2,262 724	12	188	-	2,262	18
141	Danny Yeo	M	1	1,464	8	181 183	- 6	724	18
142	Richard Heng	S	4	1,431	8	178	6	1,470 1,431	18
143	Bryan Lee	M	- 4	2,359	12	196		2,359	19
144	Mohd Zaki	M	-	2,379	12	198		2,379	19
145			-		-	100	-	2,010	10
146			-	-	-23	1000	-	21	
147			-	( <del>-</del> 2)	-0		-	- 1	
148			-	(*)	*:		-	€.	
149			-		-		- 1	+	
150	12Bowl! (Tm #11)		- 1	-	-		-	#3	
151 152	Lee Kim Hua	S	14	1,312	8	164	-	1,312	16
153	Yolanda Chin Phyllis Teoh	F	- 04	742	4	185	3	745	18
154	Siti Kasmira Hashidah	F	31	506 964	4	126	54	560	14
155	Hazman Jamil	M	12	1,271	8	120	156	1,120	14
156	Long Chey May	F	17	1,245	8	158 155	10 39	1,281	16
157	Cherylin Tay	F	29	522	4	130	51	573	16 14
158	Patrick Wong	S	11	1,349	8	168	-	1,349	16
159	Cheong Meng Tak	S	16	650	4	162	19	650	16
160	Chong Choo Ha	S	23	1,216	8	152	2	1,218	15
161	Desmond Puah	M	12	631	4	157	11	642	16
162 163	Dennis Lim	M	5	702	4	175	1	703	17
164	Harith Husaini Jeff Lim	M	12	640	4	160	-	640	16
165	Ian Chow	M	22 15	458	4	114	102	560	14
-	PS (Tm #12)	IVI	15	617	4	154	-	617	15
166	Jo Hoon								
167	Thomas Lee	M		1,610	8	201	-	1,610	20
168	Hayden Tan	M	- 2	4,868	24	202	3	4,871	20
169	Adrian He	M	3	1,406 754	8	175 188	21	1,427	17
170	Jae Tay	M		2,982	16	188	- 5	754 2,987	18
171	Ngan Chia Chia	F	4	1,427	8	178	2	1,429	18
172	Jeffrey Tan	M	14	613	4	153	12	625	15
173			-	-	-	100	- 12	020	10
174			-		-	Maria I	-	-	-
			46	-	- 4		- 1	-	
175			-2	-	40		-		
175 176				-				7.1	
175 176 177									
175 176			-	-	-		-		

	BLIC SERVICE LEAG	OL LUL			CCOIG	3	Tanza		Neek #7
No	Name	M/F	Next HDCP	Total PFS	GMS	AVG	Topup Points	Topup Total	TOP
Нар	py Bowlers (Tm #13)								
181	Jeffrey Lee	M	9	1,998	12	166	15	2,013	167
182	Goh Seow Yap	S	22	1,226	8	153	5	1,231	153
183	Aiman Zakaria	M	14	1,182	8	147	79	1,261	157
184	Hishamudin Khairudin	M	5	2,084	12	173	9	2,093	174
185	Norris Ang	M	7	1,355	8	169	13	1,368	171
186	Sulaiman Alias	S	25	587	4	146	10	597	149
187	Farouk Muhd Said	S	7	2,764	16	172	28	2,792	174
188	Ser Ah Bok	S	-	-1	-		-	-	
189	Ivan Mok	M	22	1,047	8	130	76	1,123	140
190	Remesh Babu Rajendran	M	22	475	4	118	85	560	140
191	Ng Chiong Peng	М	-	-	2/	110	-	-	110
192	Joel KI Ong	M	7	677	4	169	3	680	170
193	occiti ong	- 111	-	-	20	100	-	- 000	170
194		_	-	-	-		12	12	-
195		-		540	2/			-	-
	ntliners (Tm #14)	-			-		-		
196	Jamari Mohd	S	15	1,310	8	163	-	1,310	163
197	Jamaluddin Kasa	S	- 13	1,510	-	103		1,510	103
198	Rosli Ismail	S	20	624	4	156	-	624	156
199	Supramanian	S	20	024		100	1.0	024	100
200	Christine Cayabyab	F	17	643	- 4	160	-	642	100
201	Amos Lim	M	11	1,296	8	162	- 44	643	160
202	Halim Zul Fahmi	M	15	615	4	153	14	1,310 617	163 154
203	Darren K	M	6	1,376	8	172			
204	Ang Siew Ling	F	25	562	4		- 04	1,376	172
205	Othman Yusop	S	15			140	34	596	149
206	Abdul Wahab Hassan	S		1,937	12	161	21	1,958	163
207	Patrick Tang	S	- 22	4 404	- 0	440	- 05	4.040	450
208	Md Firdaus Izahar		23	1,191	8	148	25	1,216	152
209	Muhd Shahril Abdul Wahab	M	- 40	4.005	- 40	457		4 000	400
210	Wund Shanni Abdul Wanab	M	13	1,895	12	157	11	1,906	158
-	Hoolth (Tm #15)		-		-		-	•	
	gHealth (Tm #15)								
211	Serena Foo	F	20	1,838	12	153	40	1,878	156
212	Derek Ho	S	20	3,079	20	153	51	3,130	156
213	Vincent Lye	S	28	1,099	8	137	68	1,167	145
214	Aznol Rozajaya	S	-	-	-			-	
215	Rebecca C. Bongco	F	2	1/21	2		(+) s	-	4
216	Wee Hong Ee	M	-	2,215	12	184	28	2,243	186
217	Ng Orr Thiak	F	25	1,163	8	145	29	1,192	149
218	Xanthe Lin Huixian	F	14	1,944	12	162	25	1,969	164
219		16	-	-	-	Remain	(4)	-	0
220			-		-		2-3		
221			-		*		- :	-	
222			-	-	-		-	-	
223			-	-	-	the same	-	-	
224			-	- 150 V	-			-	2 = =

225

### **PUBLIC SERVICE LEAGUE 2025**

Week:

07 /30

11-Jun-25

FUB	LIC SERVICE LEAGUE 202	0					week:	07 /30	)		11-Jun-25			
LID	Name	Hop	Game 1	Game 2	Game 3	Game 4	Series	G1 whop	G2 w/hcp	G3 whop	G4 whop	Tot+Hcp	Pts-won	Total Pts
1	SingHealth (Tm #15)				10					1 10	- 1/1	-	Maria Caraca	-
	Derek Ho	23	161	189	169	168	687	184 1	212 1	192 1	191 1	779 1		
	Serena Foo	17	130	136	142	171	579	147 0	153 1	159 0	188 1	647 0	2	13
1.3	Wee Hong Ee	0	160	183	128	211	682	160 0	183 1	128 0	211 1	682 1	3	13
_	Team#15 score	40	451	508	439	550	1948	491 0	548 1	479 0	590 1	2108 1	3	
2	MSF12Bowl! (Tm #11)	-		1 1 2 2								2 market 131	100	
2.1	Siti Kasmira Hashidah	31	110	130	126	130	496	141 0	161 0	157 0	161 0	620 0		
2.2	Hazman Jamil	12	165	130	176	159	630	177 1	142 0	188 1	171 0	678 1		7
2.3	Patrick Wong	7	176	142	173	158	649	183 1	149 0	180 1	165 0	677 0		
	Team#11 score	50	451	402	475	447	1775	501 1	452 0	525 1	497 0	1975 0	2	
3	Happy Bowlers (Tm #13)						***************************************							
	Sulaiman Alias (NB)	25	155	158	144	130	587	180 0	183 0	169 0	155 0	687 0		
	Goh Seow Yap	21	166	154	135	149	604	187 0	175 1	156 0	170 1	688 0		4
3.3	Hishamudin Khairudin	6	187	131	185	198	701	193 0	137 0	191 1	204 1	725 0	2	*
	Team#13 score	52	508	443	464	477	1892	560 0	495 0	516 0	529 0	<b>2100</b> 0	0	
4	Alley Master (Tm #05)											VI SALIKE III		
	Zulhilmi Mazli	13	176	191	168	236	771	189 1	204 1	181 1	249 1	823 1	5	
	Mohd Faizal Sumeri	8	183	156	216	146	701	191 1	164 0	224 1	154 0	733 1	3	16
4.3	Muhd Nabil Rosli	1	244	169	166	151	730	245 1	170 1	167 0	152 0	734 1	3	10
	Team#5 score	22	603	516	550	533	2202	625 1	538 1	572 1	555 1	2290 1	5	
5	PSRC (Tm #04)													
5.1	Muhd Rustam Maideen Gani (NB)	22	88	137	116	105	446	110 0	159 0	138 0	127 0	534 0	0	
5.2	Segar Raj S Yellapen	23	133	152	149	140	574	156 0	175 0	172 0	163 1	666 0		
5.3	Muhd Azri Aidil Tamzil	15	92	130	114	87	423	107 0	145 0	129 0	102 0	483 0		1
	Team#4 score	60	313	419	379	332	1443	373 0	479 0	439 0	392 0	1683 0		
6	Team MINDEF (Tm #09)			2 (2.5)	Dia West	6-15-15-11	-474375		167191911	-	(10)(-10)		•	
6.1		11	168	170	170	178	686	179 1	181 1	181 1	189 1	730 1	5	
6.2	Edward Tan	0	182	185	243	162	772	182 1	185 1	243 1	162 0	772 1		
6.3	Jacob Lim	0	221	192	278	215	906	221 1	192 1	278 1	215 1	906 1		19
1107	Team#9 score	11	571	547	691	555	2364	582 1	558 1	702 1	566 1	2408 1		
7	OnePS (Tm #12)						-		-	702	000 .	2400		
7.1	Jeffrey Tan (NB)	14	168	168	128	149	613	182 0	182 0	142 0	163 0	669 0	0	
7.2	Jae Tay	0	161	135	198	241	735	161 1	135 0	198 1	241 1	735 1		
7.3	Thomas Lee	0	186	198	267	222	873	186 0	198 1	267 1	222 0	873 1	3	8.5
	Team#12 score	_	515	501	593	612	2221	529 0	515 0	607 1	626 1/2	2277 0		2000
8	Club 7 (Tm #06)	-	1 010	1 001	1 000	1012	Andreador I	020 0	3130	0071	020 /2	22110	1.0	
8.1	Willy Woon	13	173	233	216	193	815	186 1	246 1	229 1	206 1	867 1	5	
8.2	Fadil Low Chun Wei	0	140	169	189	194	692	140 0	169 1	189 0	194 0	692 0		1000
	Khairulnizam Abdul Jamil	0	237	165	186	226	814	237 1	165 0	186 0	226 1	814 0		11.5
	Team#6 score		550	567	591	613	2321	563 1	580 1					College
9	HotShots!2 (Tm #08)	10	1 330	307	1 001	013	2321	303 1	300 1	604 0	626 1/4	2373 1	3.5	
9.1	Vincent Poh	11	200	167	104	204	755	044.6.1	470.0	405.5	045.	700 -	1	
9.2	Tan Khoon Han	0	165	203	184	155	755	211 0	178 0	195 0	215 1	799 0		
	Roland Ng	0	161	170	158	188	699	165 1	203 0	176 1	155 1	699 1		10
0.0	Team#8 score		526	540	518	547	2131	161 0 537 0	170 0 551 0	158 1	188 1	677 1		
10	NP (Tm #01)	11	520	340	310	547	2131	537 0	551 0	529 1	558 1	2175 0	2	
	Lee Siow Hwa	30	197	182	167	145	691	227 + 1	242.4	407.4	475.0	044.4	-	V
	Jacob Goh	17	117	211	158	136		227 1	212 1	197 1	175 0	811 1		
	Andy Ng	0	192	173			622	134 0	228 1	175 0	153 0	690 0		10
10.0	Team#1 score		506		147 472	163	675	192 1	173 1	147 0	The second second			
11	Team Xynergy (Tm #10)	41	300	300	4/2	1 444	1988	553 1	613 1	519 0	491 0	2176 1	3	
111	Danny Yeo	4	216	205	170	167	766	200 + 1	200	400 6	202	700	1 -	
112	Prakash C	0	243	205	178 203	167	766	220 1	209 1	182 0	171 0	782 1		
113	Bryan Lee	0	199				870	243 1	200 1	203 1	224 1	870 1		17
1.1.0	Team#10 score		658	169	246	157	771	199 1	169 1	246 1	157 0	771 1		
12	Frontliners (Tm #14)	4	000	574	627	548	2407	662 1	578 1	631 1	552 1	2423 1	5	
12 1	Christine Cayabyab (NB)	17	153	154	173	100	040	470 .	474 0	100.	100	-	-	
12.2	Patrick Tang	15	122	133		163	643	170 0	171 0	190 1	180 1	711 0		
	Muhd Shahril Abdul Wahab	12	129	142	143	141	539	137 0	148 0	158 0	156 0	599 0		3
12.0	Team#14 score		404	429	163	170	604	141 0	154 0	175 0	182 1	652 0		
13	Strike Force (Tm #03)	44	1 404	429	479	474	1786	448 0	473 0	523 0	518 0	1962 0	0	
13 1	Janice Tan (NB)	31	131	112	117	100	160	400 0	440.0	4.40.4	107		1	
	Trea Huang	24	177			106	466	162 0	143 0	148 0	137 0	590 0		
13 3	Zainudin Haroon	21		156	146	125	604	201 1	180 0	170 0	149 0	700 0	_	2
10.0	Team#3 score		114	126	159	170	569	135 0	147 0	180 0	191 0	653 0		-
14	XIIX (Tm #02)	10	422	394	422	401	1639	498 1	470 0	498 0	477 0	1943 0	1	1
	Jake Wang	11	104	400	400	4	000	460		100000		The second second	The second	
14.7	Khairul Salleh Abu Bakar	14	184	139	155	147	625	198 1	153 1	169 1	161 1	681 1		
	Kwek Yao Chie	12	124	213	178	175	690	136 0	225 1	190 1	187 1	738 1		18
14.3		9	147	165	181	195	688	156 1	174 1	190 1	204 1	724 1	5	10
	Team#2 score	35	455	517	514	517	2003	490 0	552 1	549 1	552 1	2143 1	4	4 10